il s = [k, =

2-cijferige optelling

Naam:

25
+71

39
+7/3

16
+44

55
+17

61
+44

28
+19

99
+30

27
+21

59
+18

34
+31

92
+32

95
+43

44
+42

21
+50

23
+62
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Datum:

85
+57

33
+57

48
+92

46
+/74

91
+36

Score:

95
+13

79
+938

75
+94

38
+23

40
+77
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T sB =0 [k, = 2-cijferige optelling

Naam: Datum: Score:
25 28 92 85 95
+71 +19 +32 +57 +13
96 47 124 142 108
39 99 95 33 79
+73 +30 +43 +57 +98
112 129 138 90 177
16 27 44 48 /5
+44 +21 +42 +92 +94
60 48 36 140 169
55 59 A 46 38
+17 +18 +50 +74 +23
/2 77 /1 120 61
61 34 23 91 40
+44 +81 +62 +36 +77

105 115 85 127 117
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